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=t 0 1 2 3 4 5 6 7 8 9 AHolgl | stz | Holg Al
650X oflB] of[H| of[H| of|H| of|H] ofH] of 1] of 5| IE] of|H| 0 10
651X of| 1] of 5| of[H| of| 5| of|H| of| 5] of =] ofH| of 5| of| 5| 0 10
652X oflH] o5 of[H] of|H| of|H] o5 o 5] of 5| of[H] of|H| 0 10
653X of| 1| of[H| of | of| 5| of|H| of| 5] of| ] of[H| of[H| of| 1| 0 10
654X 0Of|H| of[H| of|H| o|H| ofl 5] oflH| oflH| oflH| oflH| ofl 5| 0 10
655X Gl of 1| of | off | of| B of 5] of 1] of[H| of[H| of| | 0 10
656X ofH] of[H| of[H| of|H| of|H] of|H] of 5] of =] of[H| of|H| 0 10
657X oflB] of[H| of[H| of|H| of|H] ofH] o1 ofjH| of[H| of|H| 0 10
658X oflH| of 5] of 5] of[H] ofH| oflH| of 5| of 5] of 5] of[H| 0 10
659X oflH] of|H| of|H] of|H| of|H] ofH] ofH] ofH] of[H] of|H| 0 10
660X Of|H| Of[H| Of[H| o[H] oflH| oflH| oflH| oflH| oflH| Il 0 10
661X ofH] of H| of 1| off | of| B of 5] of 1] of 1| of H| of| B 0 10
662X ofH] of[H| of[H| of| 5] of|H] ofH] of =] of =] of[H| of|H| 0 10
663X oflH] of[H| of[H| of|H| of|H] ofH] o5 of 5| of[H| of|H| 0 10
664X of| 1| of[H| of[H| of| 5| of| 5| of| 5] of| | of[H| of | of| 5| 0 10
665X oflH] of[H| o5 of| 5| of|H] ofH] ofH] of 5| of[H] of|H| 0 10
666X oflH| ofH] of 5] Il ofH| oflH| ofl | of | of 5] ofH| 0 10
667X E= S2H S2H S E=H E3 E= Sl S22 ExED 10 10 0
668X ofB] of 1| of | of| B of| 5] of 5] of =] of | of H| of| | 0 10
669X o5 of[H| of[H| of| 5] of|H] of|H] ofH] of[H| of[H| of|H| 0 10
670X of| 1| of | of[H| of| 5| of| 5| of| 5] of| ] of[H| of 5| of| 1| 0 10
671X Ho|& Ho|2 do|2 Hol2 Hol& Ho|& Ho|& Ho|& do|2 Hol& 10 10 0
672X oflH| of 5] ofg] of[H| oflH| oflH| ofl | ofd] ofg] ofH| 0 10
673X MOHE2 | MoiE2 | MUi21 | M1 S22 S&2 SAN2 SN2 SN2 SN2 10 10 0
674X Mo 22 SE2 MUE2 | Mii22 | MU22 | =24 ==H SEH | Moie1 | MoHE1 10 10 0
675X ofH] of[H| of =] of| 5| of|H] of| 5] of =] of[H| of H| of| 5| 0 10
676X oflH] of[H| of[H| of|H| of|H] ofH] ofH] ofjH] of[H] of|H| 0 10
677X of| 1| of 5| of[H| of| 5| of| 5| of| 5] of| | of[H| of | of| 5| 0 10
678X ofl8| ol H| of|H] of|H| of|H] ofH] of 5] of 5| of[H] of|H| 0 10
679X oflH| ofg] ofg] Il oflH| oflH| ofl | ofd] of 5] ofH| 0 10
680X oflH] of[H| of | of|H| of| e of 5] of 1] of | of H| of| B 0 10
681X of| 1| of 5| of 5| of| 5| of|H| of| 5] ofH] ofH| of[H| of|H| 0 10
682X oflH] of[H| of[H| of|H| of|H] ofH] ol 5] ofH| o[ H] of|H| 0 10
683X oflH| of 5] of 5] of[H| ofH| oflH| ofl | of 5] of 5] of[H| 0 10
684X of|H| oiH| ofH| of|H| of|H] of|H] of 5] of[H| of 5] of| 5| 0 10
685X ofl 2| ofl 5| o d| Il oflH| oflH| ofl 5| ofd] ofH] oflH| 0 10
686X ofH] of[H| of 5| of|H| of|H] ofH] of 5] of 5| of[H| of|H| 0 10
687X oflu] of[H| of[H| of| B of| B of 5] of 1] of 1| of[H| of|H| 0 10
688X oflH| of 5| of 5] of[H] ofH| oflH| of 5| of 5] of 5| ofH| 0 10
689X o8] ofH| oflH] of|H| of|H] o5 o5 oflH] o5 of|H| 0 10
690X tlol & Hlo| &2 Ho|2 | Hol& | Hol& | ol | dolg | diolg | dlolg | Hol& 10 10 0
691X ool & Ho| 2 Ho|Z | Hol2 | Hol& | Hol& | Hol& | dolZ | dolZ | HolZ 10 10 0
692X tlol & Hlo| &2 Ho|& | Hol& | Hol& | Ho/& | dolg | diol& | dol& | dol& 10 10 0
693X o2 do|& do|& Hol& Hol& Ho|& Ho|& Ho|& do|& Hol& 10 10 0
694X 4ol & bjo| = bjo| =2 ool Ho[2 Hol& Hol& Hiol = bjo| = Mol 10 10 0
695X Ho| 2 do|2 do|2 Hol2 Ho| & Ho| & Ho|& Ho|& do|2 Hol2 10 10 0
696X Hlol & Hlo| 2 Ho|2 | Hol& | Hol& 5 5 5
697X 0 10
698X 0 10
699X 0 10
A 1,140 530 98 | 1,768 449
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